=
<

a(0 @) (raqd)

1072

o 3
*‘—6' o 3
@ 11 AT A
E ¥l
1+ L+1 .| e e - e
- - |
oF =T
- 3
107 1 o 0? 1
- (PCA t% beamling
—=— DQNM_MKFIT_T |or|g‘_|
—e— DQM_mkFit_TTNEW
—— DQM_mKFit_TTNEW50
— DOM_mkFit_ TTNEW100
=
5]
2
=
<
=]
o
o
o}

a(d cot(d))

1

2 3
¥ (pca tbeamiindf

i) E :
I E l :
r 11 ook K e I b Y R e R R
E W
. < 4 LA B L 11
of r
107 1 0?
TPp (PCAt]C)beamllné'?
~ 1=
o :
-
o
o
5
.9101&_ L ......! A MY T
I E : i
o 1.05F|Hef- A P
1+ l‘ - i - el
et

o
©
a

1

o
h

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

B
L e e
<>

[any
oa
iR

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


